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Integration by Parts Practice

1. The integral fﬁ dx can be found by:

a) making the substitution u = In x

(b) making the substitution u = i
(¢) using integration by parts, with u = Inx and dv = x dx
(d) taking the reciprocal of [ x Inx dx

(e) none of the above

2. The integral [ x sinx dx can be found by:
(a) making the substitution u = x
(b) making the substitution u = sinx
(c) using integration by parts, with u = sin xand dv = x dx

I Ed! using integration By parts, with u = x and dv dv = sinx dx I

(e) none of the above
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7. The function f is continuous and £(0) = 1, f(2) = 5,and J f(x)dx = 3. Find [ x f'(x) dx
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